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Example Choose The Correct Answer

1.3 x 10000 + 0 x 1000 + 8 x 100 + 0 x 10 + 7 x 1is same as

A. 30087
B. 30807
C. 3807

D. 3087


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ONpqW3QNOtz1

Answer: B

0 Watch Video Solution

2.1 billion is equal to

A. 100 millions

B. 10 millions

C. 1000 lakhs

D. 10000 lakhs

Answer: D

° Watch Video Solution

3. Which of the following numbers in Roman Numerals is incorrect?


https://dl.doubtnut.com/l/_ONpqW3QNOtz1
https://dl.doubtnut.com/l/_v87qeDpQSbj9
https://dl.doubtnut.com/l/_lwYAHrGsEtC3

A. LXII

B. XCl

C.LC

D. XLIV

Answer: C

° Watch Video Solution

4. Which of the following is not defined?

AS5+0

B.5—-10

C.5x0

D.5+0

Answer: D


https://dl.doubtnut.com/l/_lwYAHrGsEtC3
https://dl.doubtnut.com/l/_VgDirexD7cGI

° Watch Video Solution

5. The product of a non-zero whole number and its successor is

always divisible by

A2

B.3

C.4

D.5

Answer: A

o Watch Video Solution

6. The number of factors of 36 is

A.6


https://dl.doubtnut.com/l/_VgDirexD7cGI
https://dl.doubtnut.com/l/_mt2mBQZ8xU4t
https://dl.doubtnut.com/l/_IEU0l858vTU8

B.7

C.8

D.9

Answer: D

° Watch Video Solution

7.The sum of first three common multiples of 3,4 and 9 is

A. 108

B. 144

C. 252

D. 216

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_IEU0l858vTU8
https://dl.doubtnut.com/l/_p4t8E8HGbS7f

Example Fill In The Blanks

1. In Indian System of Numeration, the number 61711682 is written,

using commas, as

A. 6,171, 1, 682
B. 617, 116, 82
C.6, 17, 11, 682

D. 61, 71, 16, 82

Answer: C

o Watch Video Solution

2.The smallest 4 digit number with different digits is

| ﬂ Watch Video Solution


https://dl.doubtnut.com/l/_p4t8E8HGbS7f
https://dl.doubtnut.com/l/_8WSLDoPm083l
https://dl.doubtnut.com/l/_ZpNIs9mqNt9z

3. Numbers having more than two factors are called

numbers.

A. Even

B. Prime

C. Composite

D. 0dd

Answer: C

° Watch Video Solution

Example True Or False

1. The number 58963 rounded off to nearest hundred is 58900.



https://dl.doubtnut.com/l/_ZpNIs9mqNt9z
https://dl.doubtnut.com/l/_35rAlCm8U72k
https://dl.doubtnut.com/l/_133l0QO5afz1

| ° Watch Video Solution

2.LXXV is greater than LXXIV.

A. LXXIV

B. LXXV

C. cannot not determine

D. none of the above

Answer: B

o Watch Video Solution

3.If a number is divisible by 2 and 3, then it is also divisible by 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_133l0QO5afz1
https://dl.doubtnut.com/l/_0tipFYCi7DWj
https://dl.doubtnut.com/l/_c508MQ2dOyzw

1. Population of Agra and Aligarh districts in the year 2001 was 36,20,
436 and 29,92,286, respectively. What was the total population of the

two districts in that year?

° Watch Video Solution

2. Estimate the product 5981 x 4428 by rounding off each number to

the nearest (i) tens(ii) hundreds

° Watch Video Solution

3. Find the product 8739 x 102 using distributive property.

° Watch Video Solution



https://dl.doubtnut.com/l/_UJV4FgOfBhfQ
https://dl.doubtnut.com/l/_xbWeTgyjFY4l
https://dl.doubtnut.com/l/_pND32J0g35EL
https://dl.doubtnut.com/l/_UfBsRbYX5Oo6

4. Floor of a room measures 4.5 metres X 3 metres. If each square
tile is of side 0.5 m, find the minimum number of complete square

marble slabs of equal size required to cover the entire floor.

° Watch Video Solution

Exercise Choose The Correct Answer

1. The product of the place values of two 2’s in 428721 is

A 4

B. 40000

C. 400000

D. 40000000

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UfBsRbYX5Oo6
https://dl.doubtnut.com/l/_Y2MxGXWkYzYv

2.3 x 10000 + 7 x 1000 +9 x 100 + 0 x 10 + 4 is the same as

A.3794

B. 37940

C. 37904

D. 379409

Answer:

o Watch Video Solution

3.1f 1is added to the greatest 7- digit number, it will be equal to

A. 10 thousand

B. 1lakh

C.10 lakh


https://dl.doubtnut.com/l/_Y2MxGXWkYzYv
https://dl.doubtnut.com/l/_dGrbBkmRJGHs
https://dl.doubtnut.com/l/_huSDbwPNuGNr

D.1crore

Answer: D

° Watch Video Solution

4.The expanded form of the number 9578 is

A.9 x 10000 + 5 x 1000 + 7 x 10 + 8 x 1

B.O9x 1000 +5x100+7x10+8 x 1

C.9x 1000 +57x 10+8 x 1

D.9x100+5x100+7x10+8 x1

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_huSDbwPNuGNr
https://dl.doubtnut.com/l/_qBmTISXcrCJm

5. When rounded off to nearest thousands, the number 85642 is

A. 85600

B. 85700

C. 85000

D. 86000

Answer: D

° Watch Video Solution

6.The largest 4-digit number, using any one digit twice, from digits 5,

9,2and 6 is

A. 9652

B. 9562

C. 9659


https://dl.doubtnut.com/l/_WiPuVwAH3r75
https://dl.doubtnut.com/l/_6mjIk1V4W89L

D. 9965

Answer:

° Watch Video Solution

7.1n Indian System of Numeration, the number 58695376 is written as

A. 58, 69, 53, 76

B. 58, 695, 376

C.5, 86, 95, 376

D. 586, 95, 376

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6mjIk1V4W89L
https://dl.doubtnut.com/l/_r6UAU4clAoOy

8. One million is equal to

A. 1lakh

B. 10 lakh

C.1crore

D. 10 crore

Answer:

O Watch Video Solution

9. The greatest number which on rounding off to nearest thousands

gives 5000, is

A. 5001

B. 5559

C. 5999


https://dl.doubtnut.com/l/_qonjNXQdrorR
https://dl.doubtnut.com/l/_ukEmony4Ed6m

D. 5499

Answer:

° Watch Video Solution

10. Keeping the place of 6 in the number 6350947 same, the smallest

number obtained by rearranging other digits is

A. 6975430

B. 6043579

C. 6034579

D. 6034759

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ukEmony4Ed6m
https://dl.doubtnut.com/l/_Fs05VGlGdUo6
https://dl.doubtnut.com/l/_BXfDtfjNIML2

11. Which of the following numbers in Roman numerals is incorrect?

A. LXXX

B. LXX

C.LX

D. LLX

Answer:

° Watch Video Solution

12. The largest 5-digit number having three different digits is

A. 98978

B. 99897

C. 99987

D. 98799


https://dl.doubtnut.com/l/_BXfDtfjNIML2
https://dl.doubtnut.com/l/_aLpWLKH8PqBN

Answer: C

0 Watch Video Solution

13. The smallest 4-digit number having three different digits is

A. 1102

B. 1012

C.1020

D. 1002

Answer:

° Watch Video Solution

14. Number of whole numbers between 38 and 68 is


https://dl.doubtnut.com/l/_aLpWLKH8PqBN
https://dl.doubtnut.com/l/_jLKUDIvl6H3V
https://dl.doubtnut.com/l/_cPShTxzi67DK

A 31

B.30

C.29

D. 28

Answer: C

° Watch Video Solution

15. The product of successor and predecessor of 999 is

A. 999000

B. 998000

C. 989000

D. 1998

Answer:


https://dl.doubtnut.com/l/_cPShTxzi67DK
https://dl.doubtnut.com/l/_b3t6DztRURtQ

° Watch Video Solution

16. The product of a non-zero whole number and its successor is

always

A. an even humber

B. an odd number

C. a prime number

D. divisible by 3

Answer:

° Watch Video Solution

17. A whole number is added to 25 and the same number is

subtracted from 25. The sum of the resulting numbers is


https://dl.doubtnut.com/l/_b3t6DztRURtQ
https://dl.doubtnut.com/l/_ViBHP15t2aDw
https://dl.doubtnut.com/l/_oiXkCrPtXJez

A.O

B. 25

C.50

D.75

Answer: C

° Watch Video Solution

18. Which of the following is not true?

A(T+8) +9="T+(8+9)

B.(7Tx8) x9=7x(8x9)

C7T4+8x9=(7+8)x(7+9)

D.7x (8+9) = (7x8)+(7x9)

Answer:


https://dl.doubtnut.com/l/_oiXkCrPtXJez
https://dl.doubtnut.com/l/_WW5TL0RPNzii

° Watch Video Solution

19. By using dot ( - ) patterns, which of the following numbers can
be arranged in all the three ways namely a line, a triangle and a

rectangle?

A9

B.10

D.12

Answer:

o Watch Video Solution

20. Which of the following statements is not true?


https://dl.doubtnut.com/l/_WW5TL0RPNzii
https://dl.doubtnut.com/l/_cElbi0YAWjEo
https://dl.doubtnut.com/l/_FZ76ui3NnCsc

A.Both addition and multiplication are associative for whole

numbers.

B. Zero is the identity for muliplication of whole numbers.

C. Addition and multiplication both are commutative for whole

numbers.

D. Multiplication is distributive over addition for whole numbers.

Answer: B

° Watch Video Solution

21. Which of the following statements is not true?

A0+0=0

BO-0=0

COx0=0


https://dl.doubtnut.com/l/_FZ76ui3NnCsc
https://dl.doubtnut.com/l/_2EsoRAuI6u7c

D.O+-0=0

Answer: D

° Watch Video Solution

22.The predecessor of 1lakh is

A. 99000

B. 99999

C. 999999

D. 100001

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2EsoRAuI6u7c
https://dl.doubtnut.com/l/_VW0KUeDR2r9G

23. The successor of 1 million is

A. 2 millions

B. 1000001

C. 100001

D. 10001

Answer:

O Watch Video Solution

24. Number of even numbers between 58 and 80 is

A.10

C.12


https://dl.doubtnut.com/l/_RDjmkNKg4Egm
https://dl.doubtnut.com/l/_LjKiEcktX8Ey

D.13

Answer:

° Watch Video Solution

25. Sum of the number of primes between 16 to 80 and 90 to 100 is

A. 20

B.18

C.17

D.16

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_LjKiEcktX8Ey
https://dl.doubtnut.com/l/_qf0aSWpztWAh

26. Which of the following statements is not true?

A. The HCF of two distinct prime numbers is 1

B. The HCF of two co prime numbers is 1

C. The HCF of two consecutive even numbers is 2

D. The HCF of an even and an odd number is even.

Answer: D

° Watch Video Solution

27. The number of distinct prime factors of the largest 4-digit

number is

A2

B.3

C.5


https://dl.doubtnut.com/l/_WA9sGC8oyVHa
https://dl.doubtnut.com/l/_FwpwJKAt4z82

Answer:

° Watch Video Solution

28. The number of distinct prime factors of the smallest 5-digit

number is

A2

B.4

C.6

D.8

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FwpwJKAt4z82
https://dl.doubtnut.com/l/_wAEVDlS2zvxl
https://dl.doubtnut.com/l/_QZOdhEiAhZMu

29. The sum of the prime factors of 1729 is

A.13

B.19

C.32

D. 39

Answer:

° Watch Video Solution

30. The greatest number which always divides the product of the

predecessor and successor of an odd natural number other than 1, is

A.6

B.4

C.16


https://dl.doubtnut.com/l/_QZOdhEiAhZMu
https://dl.doubtnut.com/l/_5XEBp36exDYm

D.8

Answer: B

° Watch Video Solution

31. The number of common prime factors of 75, 60, 105 is

A2

B.3

C.4

D.5

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5XEBp36exDYm
https://dl.doubtnut.com/l/_dDFCWPFmJ94T

32. Which of the following pairs is not coprime?

A.8,10
B. 11,12
c13

D. 31,33

Answer:

O Watch Video Solution

33. Which of the following numbers is divisible by 11?7

A. 1011011
B. 1111111

C. 22222222


https://dl.doubtnut.com/l/_F2nVr5R6b1rU
https://dl.doubtnut.com/l/_cKifJsTDBQAT

D. 3333333

Answer: C

° Watch Video Solution

34.LCM of 10,15 and 20 is

A.30

B. 60

C.90

D. 180

Answer:

o Watch Video Solution

Exercise True T Or False F



https://dl.doubtnut.com/l/_cKifJsTDBQAT
https://dl.doubtnut.com/l/_kEp0ADyVxTwr

1. In Roman numeration, a symbol is not repeated more than three

times.

o Watch Video Solution

2. In Roman numeration, if a symbol is repeated, its value is

multiplied as many times as it occurs.

° Watch Video Solution

3.5595 = 5 x 1000+ 5 x 100 +5 x 10+ 5 x 1

o Watch Video Solution

4.39746 = 3 x 10000 4+ 9 x 1000 4 7 x 100 +4 x 10 46

| & |


https://dl.doubtnut.com/l/_NvKz3HyPXL1a
https://dl.doubtnut.com/l/_OqXElAhnohsb
https://dl.doubtnut.com/l/_Od1nFhWdiybh
https://dl.doubtnut.com/l/_mGy74CeE9riL

[ W Watch Video Solution ]

5.82546 = 8 x 1000 + 2 x 1000 + 5 x 100 + 4 x 10 + 6

° Watch Video Solution

6.

932235 = 5 x 100000 + 3 x 10000 + 2 x 1000 + 2 x 100 + 3 x 10 + 5

o Watch Video Solution

7. XXIX = 31

° Watch Video Solution

8.LXXIV =74

e ]


https://dl.doubtnut.com/l/_mGy74CeE9riL
https://dl.doubtnut.com/l/_yn9jTIL8SF1u
https://dl.doubtnut.com/l/_qVBal9NtNhPO
https://dl.doubtnut.com/l/_Sd9D9dalgodB
https://dl.doubtnut.com/l/_mLamRDt0uZ9v

[ @ Watch Video Solution ]

9. The number LIV is greater than LVI.

° Watch Video Solution

10. The numbers 4578, 4587, 5478, 5487 are in descending order.

o Watch Video Solution

11. The number 85764 rounded off to nearest hundreds is written as

85700.

° Watch Video Solution



https://dl.doubtnut.com/l/_mLamRDt0uZ9v
https://dl.doubtnut.com/l/_oSj5dABYbvKS
https://dl.doubtnut.com/l/_lNB8i4kzcilE
https://dl.doubtnut.com/l/_wgyKCLK4HiLA

12. Estimated sum of 7826 and 12469 rounded off to hundreds is

20,000.

° Watch Video Solution

13. The largest six digit telephone number that can be formed by

using digits 5, 3,4, 7,0, 8 only once is 875403.

° Watch Video Solution

14.The number 81652318 will be read as eighty one crore six lakh fifty

two thousand three hundred eighteen.

o Watch Video Solution



https://dl.doubtnut.com/l/_RtNOL2KH2hKF
https://dl.doubtnut.com/l/_V9J7go8EKbOZ
https://dl.doubtnut.com/l/_0HkU05JcNr0r

15. The largest 4-digit number formed by the digits 6, 7, 0, 9 using

each digit only once is 9760.

° Watch Video Solution

16. Among kilo, milli and centi, the smallest is centi.

° Watch Video Solution

17. Successor of a one digit number is always a one digit number.

° Watch Video Solution

18. Successor of a 3-digit number is always a 3-digit number.

o Watch Video Solution



https://dl.doubtnut.com/l/_krIbmIcoM3wQ
https://dl.doubtnut.com/l/_0HMsyOK04Xkq
https://dl.doubtnut.com/l/_G4FNolw7YAb0
https://dl.doubtnut.com/l/_0hgOCPEru6HP
https://dl.doubtnut.com/l/_iUfeLB9ezJ9b

19. Predecessor of a two digit number is always a two digit number.

o Watch Video Solution

20. Every whole number has its successor.

° Watch Video Solution

21. Every whole number has its predecessor.

° Watch Video Solution

22.Between any two natural numbers, there is one natural number.

° Watch Video Solution



https://dl.doubtnut.com/l/_iUfeLB9ezJ9b
https://dl.doubtnut.com/l/_OkTG8L6XyKWe
https://dl.doubtnut.com/l/_iWilqwDhspcl
https://dl.doubtnut.com/l/_m8PniFQQcIzm

23.The smallest 4-digit number is the successor of the largest 3-digit

number.

° Watch Video Solution

24. Of the given two natural numbers, the one having more digits is

greater.

° Watch Video Solution

25. Natural numbers are closed under addition.

° Watch Video Solution

26. Natural numbers are not closed under multiplication.

° Watch Video Solution



https://dl.doubtnut.com/l/_zBWaawIvd8i5
https://dl.doubtnut.com/l/_cbW3KhmzOIpj
https://dl.doubtnut.com/l/_wSt1Y3QSLGk7
https://dl.doubtnut.com/l/_mq3RT1KlGi7N

27.Natural numbers are closed under subtraction.

o Watch Video Solution

28. Addition is commutative for natural numbers.

° Watch Video Solution

29.1is the identity for addition of whole numbers.

o Watch Video Solution

30.1is the identity for multiplication of whole numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_mq3RT1KlGi7N
https://dl.doubtnut.com/l/_TSHlTplcNMAo
https://dl.doubtnut.com/l/_jXJltmuHmZCY
https://dl.doubtnut.com/l/_tJ7oxXrYfxTz
https://dl.doubtnut.com/l/_FCTQXYVE7E5G
https://dl.doubtnut.com/l/_kUYUVc2mr9Bi

31. There is a whole nhumber which when added to a whole number,

gives the number itself.

° Watch Video Solution

32. There is a natural number which when added to a natural

number, gives the number itself.

o Watch Video Solution

33. If a whole number is divided by another whole number, which is

greater than the first one, the quotient is not equal to zero.

° Watch Video Solution

34. Any non-zero whole number divided by itself gives the quotient 1.



https://dl.doubtnut.com/l/_kUYUVc2mr9Bi
https://dl.doubtnut.com/l/_pwUpgELMXNus
https://dl.doubtnut.com/l/_z8jShF1ZLTLk
https://dl.doubtnut.com/l/_xQuA5Lx6c3mO

| o Watch Video Solution

35. The product of two whole numbers need not be a whole number.

o Watch Video Solution

36. A whole number divided by another whole number greater than 1

never gives the quotient equal to the former.

° Watch Video Solution

37. Every multiple of a number is greater than or equal to the

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_xQuA5Lx6c3mO
https://dl.doubtnut.com/l/_41OXIE3Yc8m4
https://dl.doubtnut.com/l/_7sm6kCnh0bGh
https://dl.doubtnut.com/l/_KG5KoHzCBXhv

38. The number of multiples of a given number is finite.

° Watch Video Solution

39. Every number is a multiple of itself.

o Watch Video Solution

40. Sum of two consecutive odd numbers is always divisible by 4.

° Watch Video Solution

41. If a number divides three numbers exactly, it must divide their

sum exactly.

o Watch Video Solution



https://dl.doubtnut.com/l/_YldcKge00pX3
https://dl.doubtnut.com/l/_r5KYG7bL8AIj
https://dl.doubtnut.com/l/_rDgZCHC5W6se
https://dl.doubtnut.com/l/_AlkuXMoEJo8h
https://dl.doubtnut.com/l/_Gz4vbwQBsmO5

42. If a number exactly divides the sum of three numbers, it must

exactly divide the numbers separately.

o Watch Video Solution

43. If a number is divisible both by 2 and 3, then it is divisible by 12.

° Watch Video Solution

44, State True or False:
A number with three or more digits is divisible by 6, if the number

formed by its last two digits (i.e, ones and tens) is divisible by 6.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gz4vbwQBsmO5
https://dl.doubtnut.com/l/_oOxgfC5xMAyo
https://dl.doubtnut.com/l/_bRDVLGpevf9I

45. If the sum of the digits of a number is divisible by 3, then the

number itself is divisible by 9.

° Watch Video Solution

46. The LCM of two numbers is 108 and their HCF is 4. If one of the

number is 12, then find the other number.

° Watch Video Solution

47. The Highest Common Factor of two or more numbers is greater

than their Lowest Common Multiple.

o Watch Video Solution

48.LCM of two or more numbers is divisible by their HCF.



https://dl.doubtnut.com/l/_9CODcrwvShdy
https://dl.doubtnut.com/l/_iSLJ3Gg8GIFq
https://dl.doubtnut.com/l/_KtS61kWAN6MW
https://dl.doubtnut.com/l/_vyzClIFSziWp

_ ° Watch Video Solution

49, LCM of two numbers is 28 and their HCF is 8. If one of the number

is 4,the other number is:

° Watch Video Solution

50. LCM of two or more numbers may be one of the numbers.

° Watch Video Solution

51. HCF of two or more numbers may be one of the numbers.

° Watch Video Solution

52. Every whole number is the successor of another whole number.



https://dl.doubtnut.com/l/_vyzClIFSziWp
https://dl.doubtnut.com/l/_Fg0SquQIZEZ3
https://dl.doubtnut.com/l/_ZNsG3vnmGfZ7
https://dl.doubtnut.com/l/_i8PIGZJSfIVS
https://dl.doubtnut.com/l/_4k1wKppWgjS6

| o Watch Video Solution

53. Sum of two whole numbers is always less than their product.

° Watch Video Solution

54. If the sum of two distinct whole numbers is odd, then their

difference also must be odd.

o Watch Video Solution

55. Any two consecutive numbers are coprime.

° Watch Video Solution



https://dl.doubtnut.com/l/_4k1wKppWgjS6
https://dl.doubtnut.com/l/_M4Fzyczu92gt
https://dl.doubtnut.com/l/_L0X1hOQEfcWO
https://dl.doubtnut.com/l/_ZbRu4jci2eoi

56. If the HCF of two numbers is one of the numbers, then their LCM

is the other number.

° Watch Video Solution

57. The HCF of two numbers is smaller than the smaller of the

numbers.

° Watch Video Solution

58. The LCM of two numbers is greater than the larger of the

numbers.

° Watch Video Solution



https://dl.doubtnut.com/l/_cVdlIBNl7UvY
https://dl.doubtnut.com/l/_qj0UKBP1973Y
https://dl.doubtnut.com/l/_ciPYFKMAP8D8

59. The LCM of two coprime numbers is equal to the product of the

numbers.

° Watch Video Solution

Exercise Fill In The Blanks

1. 10 million = crore.

o Watch Video Solution

2.10 lakh = million.

° Watch Video Solution

3.1 metre = millimetres.



https://dl.doubtnut.com/l/_9aQaYXhJBWz2
https://dl.doubtnut.com/l/_W0j0xFT8SiYC
https://dl.doubtnut.com/l/_WsFCQfg2y09D
https://dl.doubtnut.com/l/_ka5ZPKXRrLzI

° Watch Video Solution

4.1 centimetre = millimetres.

o Watch Video Solution

5.1 kilometre = millimetres.

° Watch Video Solution

6.1gram = milligrams.

° Watch Video Solution

7.1 litre = millilitres.

o Watch Video Solution



https://dl.doubtnut.com/l/_ka5ZPKXRrLzI
https://dl.doubtnut.com/l/_NkuoDxpkXr6P
https://dl.doubtnut.com/l/_TvN4i9iY6KKn
https://dl.doubtnut.com/l/_coB1dqPFgWKo
https://dl.doubtnut.com/l/_ZF8c2pxjTjh5

9. 100 thousands = lakh.

° Watch Video Solution

10. Height of a person is 1m 65cm. His height in millimetersis

A. 1650mm

B. 16500mm

C.165mm

D. 16550mm


https://dl.doubtnut.com/l/_ZF8c2pxjTjh5
https://dl.doubtnut.com/l/_1NBuACoJMtNF
https://dl.doubtnut.com/l/_it33WXJOKPy3
https://dl.doubtnut.com/l/_IPtOkFiZ9F87

Answer: A

0 Watch Video Solution

11. Length of river ‘Narmada’ is about 1290km. Its length in metres

is

° Watch Video Solution

12. The distance between Sringar and Leh is 422km. The same

distance in metres is

o Watch Video Solution

13. Writing of numbers from the greatest to the smallest is called an

arrangement in order.

| ﬂ-.. " 1 w1 -~ 1 e


https://dl.doubtnut.com/l/_IPtOkFiZ9F87
https://dl.doubtnut.com/l/_p8O59jSXkslp
https://dl.doubtnut.com/l/_bE2jZ3jSGQLN
https://dl.doubtnut.com/l/_z8nmeJHvZYgC
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14. By reversing the order of digits of the greatest number made by

five different non-zero digits, the new number is the number of

five digits.

0 Watch Video Solution

15. By adding 1to the greatest digit number, we get ten lakh.

o Watch Video Solution

16. The number five crore twenty three lakh seventy eight thousand
four hundred one can be written, using commas, in the Indian

System of Numeration as

° Watch Video Solution



https://dl.doubtnut.com/l/_z8nmeJHvZYgC
https://dl.doubtnut.com/l/_wJMhXgrUTM4i
https://dl.doubtnut.com/l/_nW4DbMCUqFEe
https://dl.doubtnut.com/l/_oyunO1H8qPej

17.1n Roman Numeration, the symbol X can be subtracted from

M and C only.

° Watch Video Solution

18. The number 66 in Roman numerals is

° Watch Video Solution

19. The smallest whole number is

° Watch Video Solution

20. Successor of 106159 is

o Watch Video Solution



https://dl.doubtnut.com/l/_zcGkKm7xDrFe
https://dl.doubtnut.com/l/_3OnuNhKUXejq
https://dl.doubtnut.com/l/_7vgtJ3m2pRs6
https://dl.doubtnut.com/l/_L2Rqd9jijuZt
https://dl.doubtnut.com/l/_Z9fu7Y8GTWn7

21. Predecessor of 100000 is

o Watch Video Solution

22.400 is the predecessor of

° Watch Video Solution

23.  is the successor of the largest 3 digit number.

° Watch Video Solution

24. If O is subtracted from a whole number, then the result is the

° Watch Video Solution



https://dl.doubtnut.com/l/_Z9fu7Y8GTWn7
https://dl.doubtnut.com/l/_0w9M2WUWuLUZ
https://dl.doubtnut.com/l/_JZC0BaYRjIio
https://dl.doubtnut.com/l/_YFZAVW0d78gv
https://dl.doubtnut.com/l/_OwpiTMoRIn4U

25.The smallest 6 digit natural number ending in 5 is

o Watch Video Solution

26. Whole numbers are closed under and under

° Watch Video Solution

27.Natural numbers are closed under and under

o Watch Video Solution

28. Division of a whole number by is not defined.

° Watch Video Solution



https://dl.doubtnut.com/l/_OwpiTMoRIn4U
https://dl.doubtnut.com/l/_3woGHDXHm95l
https://dl.doubtnut.com/l/_Bs2yPM3154yl
https://dl.doubtnut.com/l/_ZVDp9O7qo3pr

29. Multiplication is distributive over for whole numbers.

° Watch Video Solution

30. 2395 x = 6195 x 2395

o Watch Video Solution

31.1001 x 2002 = 1001 x (1001 + )

° Watch Video Solution

32.10001 x 0 =

o Watch Video Solution



https://dl.doubtnut.com/l/_37jQ0BAHgg6j
https://dl.doubtnut.com/l/_N2lGBJt023eA
https://dl.doubtnut.com/l/_ljrLWxShUpIR
https://dl.doubtnut.com/l/_xcsZMEfZK5c7

33.2916 x =0

° Watch Video Solution

34.9128 x = 9128

o Watch Video Solution

35.125 + (68 4+ 17) = (125 + ) + 17

° Watch Video Solution

36.8925 x 1 =

o Watch Video Solution



https://dl.doubtnut.com/l/_CduHv9qRlcH8
https://dl.doubtnut.com/l/_U1X7OxJK5Vik
https://dl.doubtnut.com/l/_eWmZSdI83sNm
https://dl.doubtnut.com/l/_5fnixCWlIhL4

3719 x 124+ 19 = 19 x (12 +

° Watch Video Solution

38.24 x 35 =24 x 18 + 24 x

o Watch Video Solution

39.32 x (27 x 19) = (32 x

° Watch Video Solution

40.786 x 3+ 786 x 7 =

o Watch Video Solution



https://dl.doubtnut.com/l/_STYHQD8JBW46
https://dl.doubtnut.com/l/_HjctjqlqoygJ
https://dl.doubtnut.com/l/_6e24lRplvPz6
https://dl.doubtnut.com/l/_iBVvNzZqHhcZ

41.24 x 25 = 24 x

° Watch Video Solution

42. A number is a of each of its factor.

o Watch Video Solution

43.  is afactor of every number.

° Watch Video Solution

44.The number of factors of a prime numberis

o Watch Video Solution



https://dl.doubtnut.com/l/_iBZjwnOrB6BV
https://dl.doubtnut.com/l/_YFyECJ7iJdWF
https://dl.doubtnut.com/l/_FZRhoAjJFTqh
https://dl.doubtnut.com/l/_8ygq5BTCmcwS

45. A number for which the sum of all its factors is equal to twice the

number is calleda __ number.

° Watch Video Solution

46. The numbers having more than two factors are called

numbers.

° Watch Video Solution

47.2 is the only number which is even.

° Watch Video Solution

48. Two numbers having only 1 as a common factor are called

numbers.



https://dl.doubtnut.com/l/_4VrMQBLrnao3
https://dl.doubtnut.com/l/_ZofgfCP5M82t
https://dl.doubtnut.com/l/_IQdLBB6Wu69d
https://dl.doubtnut.com/l/_ZhOmm6trd0Sn

_ ° Watch Video Solution

49. Number of primes between 1to 100 is

° Watch Video Solution

50.If anumber has __in ones place, then it is divisible by 10.

° Watch Video Solution

51. Anumber is divisible by 5, if it has or in its ones place.

o Watch Video Solution

52. A number is divisible by if it has any of the digits 0, 2, 4, 6, or

8 in its ones place.



https://dl.doubtnut.com/l/_ZhOmm6trd0Sn
https://dl.doubtnut.com/l/_InFwGPFOogc8
https://dl.doubtnut.com/l/_ODX2yYREDY1V
https://dl.doubtnut.com/l/_6JGT4O08Pv7P
https://dl.doubtnut.com/l/_02tYiCb1roJo

| o Watch Video Solution

53. If the sum of the digits in a number is a of 3, then the

number is divisible by 3.

° Watch Video Solution

54. The LCM of two or more given numbers is the lowest of their

common

° Watch Video Solution

55. The HCF of two or more given numbers is the highest of their

common

o Watch Video Solution



https://dl.doubtnut.com/l/_02tYiCb1roJo
https://dl.doubtnut.com/l/_35G9ijYLCK9Y
https://dl.doubtnut.com/l/_inHzJJVcP1j5
https://dl.doubtnut.com/l/_dOsdV0xF73gZ

1. Given below are two columns - Column | and Column Il. Match

each item of Column | with the corresponding item of Column II.

Column I Column II

(1l The difference of two consecutive (&) el
whole numbers

(li] The product of two non-zero by O
consecutive whole numbers

i) Quotient when zero is divided by ) 3
anolther non-zero whole number

[v] 2 added three times, to the () 1
smallest whole number

(vl Smallest odd prime number (] G

(1) even

° Watch Video Solution

2. Arrange the followng numbers in descending order:

8435, 4835, 13584, 5348, 25843

0 Watch Video Solution



https://dl.doubtnut.com/l/_uFpUyFg2WNIK
https://dl.doubtnut.com/l/_rGAeHy2bklZY
https://dl.doubtnut.com/l/_gSf0TeeIc4xT

3. Of the following numbers which is the greatest? Which is the
smallest

38051425, 30040700, 67205602

° Watch Video Solution

4. Write in expanded form:
(a) 74836
(b) 574021

(c) 8907010

O Watch Video Solution

5. As per the census of 2001, the population of four states are given

below. Arrange the states in ascending and descending order of


https://dl.doubtnut.com/l/_gSf0TeeIc4xT
https://dl.doubtnut.com/l/_rNr9ZD46GfQw
https://dl.doubtnut.com/l/_p2Jxo7hPAp5R

their population.

(a) Maharashtra 96878627
(b) Andhra Pradesh 76210007
(c) Bihar 82998509
(d) Uttar Pradesh 166197921

° Watch Video Solution

6. India’s population has been steadily increasing from 439 millions in
1961 to 1028 millions in 2001. Find the total increase in population

from 1961 to 2001. What is the increase in population?

o Watch Video Solution

7. Radius of the Earth is 6400km and that of Mars is 4300000m.

Whose radius is bigger and by how much?

0 Watch Video Solution



https://dl.doubtnut.com/l/_p2Jxo7hPAp5R
https://dl.doubtnut.com/l/_Uwxnqyn7BfLc
https://dl.doubtnut.com/l/_6vXQiOK4FMnK

8. In 2001, the poplulations of Tripura and Meghalaya were 3,199,203
and 2,318,822, respectively. Write the populations of these two states

in words.

° Watch Video Solution

9. In a city, polio drops were given to 2,12,583 children on Sunday in
March 2008 and to 2,16,813 children in the next month. Find the
difference of the number of children getting polio drops in the two

months.

° Watch Video Solution

10. A person had Rs 1000000 with him. He purchased a colour T.V. for
Rs 16580, a motor cycle for Rs 45890 and a flat for Rs 870000. How

much money was left with him?



https://dl.doubtnut.com/l/_hxYvS8KqjsIB
https://dl.doubtnut.com/l/_L71dJIT0e5IE
https://dl.doubtnut.com/l/_kyvYV9xDAOmi
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11. Out of 180000 tablets of Vitamin A, 18734 are distributed among
the students in a district. Find the number of the remaining vitamin

tablets.

0 Watch Video Solution

12. Chinmay had Rs 610000. He gave Rs 87500 to Jyoti, Rs 126380 to

Javed and Rs 350000 to John. How much money was left with him?

° Watch Video Solution

13. Find the difference between the smallest number of eight digits

and the largest number of seven digits .

° Watch Video Solution



https://dl.doubtnut.com/l/_kyvYV9xDAOmi
https://dl.doubtnut.com/l/_SfnGbPGHctkn
https://dl.doubtnut.com/l/_Hmcd0kNnnUX6
https://dl.doubtnut.com/l/_q7pIo49uwS9t

14. A mobile number consists of ten digits. The first four digits of the
number are 9, 9, 8 and 7. The last three digits are 3, 5 and 5. The
remaining digits are distinct and make the mobile number, the

greatest possible number. What are these digits?

° Watch Video Solution

15. A mobile number consists of ten digits. First four digits are 9,9,7
and 9. Make the smallest mobile number by using only one digit

twice from 8, 3, 5, 6, O.

o Watch Video Solution

16. In a five digit number, digit at ten’s place is 4, digit at unit’s place
is one fourth of ten’s place digit, digit at hunderd’s place is 0, digit at

thousand’s place is 5 times of the digit at unit’s place and ten


https://dl.doubtnut.com/l/_QWtBTDmFBYi5
https://dl.doubtnut.com/l/_hVSFEuqYOYPn
https://dl.doubtnut.com/l/_S1cGONs1uD55

thousand’s place digit is double the digit at ten’s place. Write the

number.

° Watch Video Solution

17. Find the sum of the greatest and the least six digit numbers

formed by the digits 2,0, 4, 7, 6, 5 using each digit only once.

° Watch Video Solution

18. A factory has a container filled with 35874 litres of cold drink. In

how many bottles of 200 ml capacity each can it be filled?

° Watch Video Solution

19. The population of a town is 450772. In a survey, it was reported

that one out of every 14 persons is illiterate. In all how many


https://dl.doubtnut.com/l/_S1cGONs1uD55
https://dl.doubtnut.com/l/_Ftr41HBLb0zF
https://dl.doubtnut.com/l/_jOTMVfFjWaaW
https://dl.doubtnut.com/l/_y4vTJ4nt45o7

illiterate persons are there in the town?

° Watch Video Solution

20. Find the LCM of 80, 96, 125, 160.

° Watch Video Solution

21. Make the greatest and the smallest 5-digit numbers using

different digits in which 5 appears at ten’s place.

° Watch Video Solution

22. How many grams should be added to 2kg 300g to make it 5kg

68g?

° Watch Video Solution



https://dl.doubtnut.com/l/_y4vTJ4nt45o7
https://dl.doubtnut.com/l/_wDKNjYmS8hpJ
https://dl.doubtnut.com/l/_ZIWnNY0T8Wow
https://dl.doubtnut.com/l/_2sZLjJuF07U8

23. A box contains 50 packets of biscuits each weighing 120g. How
many such boxes can be loaded in a van which cannot carry beyond

900kg?

o Watch Video Solution

24. How many lakhs make five billions?

° Watch Video Solution

25. How many millions make 3 crores?

° Watch Video Solution

26. Estimate each of the following by rounding off each number to

nearest hundreds:


https://dl.doubtnut.com/l/_3MD0OY5QKMJE
https://dl.doubtnut.com/l/_L11BAfTIRByE
https://dl.doubtnut.com/l/_5fdoA8UCakbe
https://dl.doubtnut.com/l/_NiwcwsxffNBw

() 874 + 478
(b) 793 + 397
(c) 11244 + 3507

(d) 17677 + 13589

0 Watch Video Solution

27. Estimate each of the follwoing by rounding off each number to
nearest tens:

(a) 11963 - 9369

(b) 76877 - 7783

(c) 10732 - 4354

(d) 78203 - 16407

° Watch Video Solution



https://dl.doubtnut.com/l/_NiwcwsxffNBw
https://dl.doubtnut.com/l/_57zG5ybTH2xK

28. Estimate each of the following products by rounding off each
number to nearest tens:

(a) 87 x 32

(b) 311 x 113

(c) 3239 x 28

(d) 1385 x 789

° Watch Video Solution

29. The population of a town was 78787 in the year 1991 and 95833 in
the year 2001. Estimate the increase in population by rounding off

each population to nearest hundreds.

o Watch Video Solution

30. Estimate the product 758 x 6784 by rounding to nearest

hundreds


https://dl.doubtnut.com/l/_ceU5XFmtKUoa
https://dl.doubtnut.com/l/_90OxpYqGKXhy
https://dl.doubtnut.com/l/_9lmcOTPATF2o

° Watch Video Solution

31. A garment factory produced 216315 shirts, 182736 trousers and
58704 jackets in a year. What is the total production of all the three

items in that year?

o Watch Video Solution

32.Find the LCM of 160, 170 and 90.

° Watch Video Solution

33. A vessel has 13litres 200mL of fruit juice. In how many glasses

each of capacity 60mL can it be filled?

o Watch Video Solution



https://dl.doubtnut.com/l/_9lmcOTPATF2o
https://dl.doubtnut.com/l/_IXJS9AMCyyYm
https://dl.doubtnut.com/l/_Dv9dtV8FuxZk
https://dl.doubtnut.com/l/_UOHNFJA0aExC
https://dl.doubtnut.com/l/_GXq1N7gEvnVU

34. Determine the sum of the four numbers as given below:
(a) successor of 32

(b) predecessor of 49

(c) predecessor of the predecessor of 56

(d) successor of the successor of 67

° Watch Video Solution

35. A loading tempo can carry 482 boxes of biscuits weighing 15kg
each, whereas a van can carry 518 boxes each of the same weight.

Find the total weight that can be carried by both the vehicles.

° Watch Video Solution

36. In the marriage of her daughter, Leela spent Rs 216766 on food

and decoration,Rs 122322 on jewellery, Rs 88234 on furniture and Rs


https://dl.doubtnut.com/l/_GXq1N7gEvnVU
https://dl.doubtnut.com/l/_8thfLzS0Seic
https://dl.doubtnut.com/l/_QKktQF5FqaTH

26780 on kitchen items. Find the total amount spent by her on the

above items.

° Watch Video Solution

37. A box contains 5 strips having 12 capsules of 500mg medicine in
each capsule. Find the total weight in grams of medicine in 32 such

boxes.

o Watch Video Solution

38. Determine the least number which when divided by 3, 4 and 5

leaves remainder 2 in each case.

0 Watch Video Solution



https://dl.doubtnut.com/l/_QKktQF5FqaTH
https://dl.doubtnut.com/l/_rf5AP9HVZfTH
https://dl.doubtnut.com/l/_4FY7HeMjEtFn

39. A merchant has 120 litres of oil of one kind, 180 litres of another
kind and 240 litres of third kind. He wants to sell the oil by filling the
three kinds of oil in tins of equal capacity. What should be the

greatest capacity of such a tin?

o Watch Video Solution

40. Find a 4-digit odd number using each of the digits 1, 2, 4 and 5
only once such that when the first and the last digits are

interchanged, it is divisible by 4.

° Watch Video Solution

41. Using each of the digits 1, 2, 3 and 4 only once, determine the

smallest 4-digit number divisible by 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_BMS6wzLMTqPb
https://dl.doubtnut.com/l/_FfGUrXZTNKHu
https://dl.doubtnut.com/l/_9mVWAp3pguBr

42. Fatima wants to mail three parcels to three village schools. She
finds that the postal charges are Rs 20, Rs 28 and Rs 36, respectively.
If she wants to buy stamps only of one denomination, what is the
greatest denomination of stamps she must buy to mail the three

parcels?

° Watch Video Solution

43.Three brands A, B and C of biscuits are available in packets of 12,
15 and 21 biscuits respectively. If a shopkeepeer wants to buy an
equal number of biscuits, of each brand, what is the minimum

number of packets of each brand, he should buy?

° Watch Video Solution



https://dl.doubtnut.com/l/_9mVWAp3pguBr
https://dl.doubtnut.com/l/_1R61BqMbDLkW
https://dl.doubtnut.com/l/_DSgs5MpQEWJZ

44. The floor of a room is 8m 96cm long and 6m 72cm broad. Find
the minimum number of square tiles of the same size needed to

cover the entire floor.

° Watch Video Solution

45.1n a school library, there are 780 books of English and 364 books
of Science. Ms. Yakang, the librarian of the school wants to store
these books in shelves such that each shelf should have the same
number of books of each subject. What should be the minimum

number of books in each shelf?

° Watch Video Solution

46. In a colony of 100 blocks of flats numbering 1 to 100, a school van

stops at every sixth block while a school bus stops at every tenth


https://dl.doubtnut.com/l/_NOXyifxNIOwf
https://dl.doubtnut.com/l/_5syntkdyErdX
https://dl.doubtnut.com/l/_TxCPpwbxiLp6

block. On which stops will both of them stop if they start from the

entrance of the colony?

° Watch Video Solution

47.Test the divisiblity of following numbers by 11
(a) 5335

(b) 9020814

o Watch Video Solution

48. Using divisiblity tests, determine which of the following numbers
are divisible by 4?

(a) 4096

(b) 21084

(c) 31795012

o Watch Video Solution



https://dl.doubtnut.com/l/_TxCPpwbxiLp6
https://dl.doubtnut.com/l/_uO6ArtOSrY6l
https://dl.doubtnut.com/l/_sIyCxvrcJe70

49. Using divisiblity test. determine which of the following numbers
are divisible by 9?7
(a) 672

(b) 5652

° Watch Video Solution



https://dl.doubtnut.com/l/_sIyCxvrcJe70
https://dl.doubtnut.com/l/_9F73byLkVHiD

